INSTRUCTION SHEET

KE PCD An ISO 9001 Company.

KIT
219-0618

RA 55 CONNECTOR ADAPTER KIT

1. DESCRIPTION

This kit provides an adapter (see Figure 1) which converts the 6-pin Load Connector at the rear of the RA 55 Rack
Adapter to terminals with pre-installed lugs using 6-32 screws (for 0.312 inch maximum ring diameter), for connection
to a load. See Figure 3 for outline dimensions. The adapter (KIT 219-0618 Rev 2 and higher) also includes open sense
protection that prevents an OVP trigger from the MST-HT from causing an open sense fault.

SEE DETAIL "A"

3044435

OUTPUT () SENSE ()  CURRENT SHARE ﬁ:

SEE DETAIL "B"
TO REMOVE ADAPTER
FROM RA 55 CONNECTOR

PUSH IN TABS ON BOTH
SIDES UNTIL ADAPTER
DISENGAGES FROM

OUTPUT (+) SENSE (+) GROUND RA 55 CONNECTOR.

DETAIL "A" DETAIL "B"

FIGURE 1. KIT 219-0618 ADAPTER

2. MATERIAL SUPPLIED (SEE TABLE 1.)
Table 1 lists the contents of this kit and a description of each component.

TABLE 1. MATERIAL SUPPLIED

ITEM DESCRIPTION pAEr Q2| QuANTITY
Safety Cover Plastic cover to protect against inadvertent contact with DC load connections 137-0170 1
Bottom Cover Part of adapter assembly 137-0169 1
PCB Assembly Part of adapter assembly 236-3364 1
Top Cover Part of adapter assembly 137-0164 1
Snap-on Rivet Attach Safety cover to adapter 106-0048 2
Ring Lug #6, 16 - 14 AWG (TE Connectivity P/N 640907-1) 107-0224 6
Screw SEMS, 6-32 x 3/8”, Pan Head with Split Lock 101-0588 6
Screw PHPH, 4-24 x 0.375 ST. Type B 101-0395 6
Instruction Sheet Contains instructions for installing KIT 219-0618 components 228-1923 1

KEPCO, INC. @ 131-38 SANFORD AVENUE @ FLUSHING, NY. 11355 U.S.A. @ TEL (718) 461-7000 @ FAX (718) 767-1102

©2021, KEPCO, INC

www.kepcopower.com @ email: hg@kepcopower.com
121621

Data subject to change without notice 228-1923 REV 2



3. INSTALLATION

Installation of the adapter is as follows (see Figure 2).

1. Remove pre installed screw(s) and lugs from adapter.
2. Crimp wires or pre-wired harness to lugs. See Figure 1 for terminal functions.
3. Install lugs on screws and attach screws to adapter terminals.

4. After all lugs are installed, carefully line up adapter with load connector of RA 55 rack adapter, then push
adapter until it clicks into the fully engaged position on RA 55 connector.

5. If present, first remove protective film from safety cover then, if desired, install optional safety cover using
either two screws or two shap-on rivets (or both) to secure safety cover to adapter.

ADAPTER - INCLUDES
BOTTOM COVER (P/N 137-0169)
PWB ASSY (P/N 236-3364),
TOP COVER (P/N 137-0164)

RING LUG (6),
i / #6, 16-14 AWG
l

KEPCO P/N 107-0224

SNAP ON RIVET (2)
C@ KEPCO P/N 106-0048

Q)m«@\
SCREW (2),

PHPH 4-24 x 0.375
ST TYPE B
KEPCO P/N 101-0395

LOAD CONNECTOR
(P/O RA 55 RACK ADAPTER)

SCREW (4),
PHPH 4-24 x 0.375 SCREW (6),
STTYPE B SEMS, 6-32 x 3/8" SAFETY COVER,
KEPCO P/N 101-0395 PAN HD W/SPLIT LOCK PLASTIC,

3044436
KEPCO P/N 101-0588 ~ KEPCOP/N 137-0170

FIGURE 2. KIT 219-0618 INSTALLATION

4. DISASSEMBLY

Wires may be removed and installed with the adapter either mated to or separated from the RA 55 load connec-
tor. Kepco recommends installing wires on the adapter before mating to the RA 55 load connector.

If removal of the adapter is necessary, pull the adapter away from the RA 55 load connector while simultaneously
pushing in both tabs of the adapter as shown in Figure 1, detail “B.” When the RA 55 connector disengages from
the corresponding holes of the adapter, pull the adapter away from the RA 55 load connector.

KEPCO, INC. @ 131-38 SANFORD AVENUE @ FLUSHING, NY. 11355 U.S.A. @ TEL (718) 461-7000 @ FAX (718) 767-1102
www.kepcopower.com @ email: hg@kepcopower.com
228-1923 REV 2 121621



/] [

RETIOVE-
TEPUSH TA@ST
TOCETIER

PULL AWAY

INSTALL-

1.731 [43.97 mm]
0.375 [9.5 mm]

—=6-32 INTERNAL THREAD x 3/8"DEEP

0.330 [8.4 mm]

0.852 [21.6 mm]

1 W—
E

1.215 [30.9 mm]

'm m]

L 1.612 [40.95 mm] |

—| |~-0.237[6.0 mm]

0.363 [9.2 mm]-—

\ BLEO-61Z L]
I [

0.197 [5.0 mm]g Pq lf—T‘

N

080

3044437 - 1.737 [44.13 mm] =

0.867 [22.0 mm]

o

©

©

©
ismmis|

0.708 [18.0 mm]J

FIGURE 3. KIT 219-0618 ADAPTER, OUTLINE DIMENSIONS

KEPCO, INC. @ 131-38 SANFORD AVENUE @ FLUSHING, NY. 11355 U.S.A. @ TEL (718) 461-7000 @ FAX (718) 767-1102

www.kepcopower.com @ email: hg@kepcopower.com
3/(4 Blank)

121621 228-1923 REV 2






	1. Description
	FIGURE 1. KIT 219-0618 Adapter
	2. MATERIAL SUPPLIED (See Table 1.)
	TABLE 1. Material SupPlied
	3. Installation
	FIGURE 2. KIT 219-0618 Installation
	4. Disassembly
	FIGURE 3. KIT 219-0618 Adapter, Outline Dimensions

